[20145E)RIEHRE—E

A5 B AlsE S B Eih AlEmER™
41| E 72D A LA %2
4/1| < D H BT R 20. 56Bq/kg
4/2(RefE W2 OKEL) HERS IR 28. 40Bq/kg
4/2|f g E 2 R L) FERG IR 10A %2
4/4(8E < % I~ ik IR I SEP
4/4|BH HAR 10Ai %2
4/8|F LZ&IL B LOAT i %2
4/8| = 72 ZHHAE: B 10Ai %2
4/9| & D & S M H A 10T %2
4/ T N—RY —T % A KK P 1O %2

4/11[IFk =~ (i) 14. 75Bq/kg
4/11K A~ 10 %2
4/15|/K A LA I 1O i %2
4/16|/ N 5T F HAR 1O %2
4/16|7=F > = (%) il LOAT i %2
4/16| L H & il 1O %2
4/18|7= MIFIE (42HE) il LOAT i %2
4/18[1F =~ il 10 %2
4/22|DW% ORI R T 1O it %2
4/22(7=F > = il 10 %2
4/23| DB il LOA i 2
4/ 23k A% H A 10 %2
4/25|T=\F D = RN LOA i 2
4/25| & ¥ il LOAT i %2
4/30[#8 =<0 TR LOA i %2
5/2| £ < T2 Nil%! 10 %2
5/2| 5 & N LOA i 2
5/7(7= 7 = il 10 %2
5/7|1= 7Dz (Ok#) THEW R LOA i 2
5/91FKABAD T LZIX H AR LOAT i %2
5/9|1&F L THER 104t %2
5/13[ &< B AIE il LOAT i %2
5/13| L b & il LOA %2
5/14| T, H AR IS ES
5/14| BB 7 v ¥ — B LOA %2
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5/16[ & < 724 il 10 %2
5/16| L & & i LA %2
5/20| W T2 L R EHE S LOAT i %2
5/20( &< 724 il 25. 64Bq/kg
5/21|7VA 2 A PRI R 1O %2
5/21| /R B LOAT i %2
5/23[1% =~ il 10A %2
5/23| T 1 H A L0 i 32
5/27| &1X TR 1O %2
5/27(F D3z T IERTEP)
5/28| K E /KA H A 10A %2
5/30| ¥R Y GIE ANEA I SES
5/30[ M EIFZ TAVH, AR, =L—7T 10 %2

6/3|7 1 % KA IERTEP)
6/3[7iF> = (%) o IR T 21. 15Bq/kg
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6/6|4~%L AR L0 2
6/10[ & < 72 H4 il 29. 81Bq/kg
6/10| 7 —_Y —p Frow—7 10 %2
6/11| L\ 7= e IR LOA i %2
6/11| 5 HIGIALS 10 %2
6/13|7KiE 7K il 1O it %2
6/13|L 59 JEE 1R 055 R LOA i %2
6/17| 0% il LOA i 2
6/17| & < 724 Nil%! LOAT i %2
6/18[ N> il LOA i 2
6/18|F D3 TN LOAT i %2
6/20|JFAR L7zt JUIN PE 1O it %2
6/20l o — X<V — Gila)] LOAT i %2
6/24| RiZ% A~HA LOA %2
6/24| P+ 5H 9 il 10A it %2
6/25|3 v 7 AT —> ({Eik WAL 104t %2
6/25| & < 724 litle! 49. 12Bq/kg
6/27|7H b il LOA %2
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7/2|F L Ll H A L0A i 32
/4| EAFE AeifE LA %2
T/4|RIRESD JbfgE 1042
7/9|m— Y = (864FJEE) = 294. 01Bq/kg
/977 L% TN 10 %2

2/13|1E 5. Ryl 10AT %2
2/18| LE D HE e Jey B THRHT 1O it %2
2/18| 7 = i 055 B O T 10A i %2
2/20|=> =7 8 e VR T AR H T 104 i %2
2/20| %A 8 b U TR T 10A i x2
2/25[F ) < 10 %2
2/ 25K e he Uk HEAL
2/27| A K LT/ I 10Aii %2
2/27| &% 71T K pE 1042
3/4[1F D L AK HORER /N 1042
3/4|4i il 104 %2
3/6|F A N 1O %2
3/6|k & = I Bl 10 %2
3/11|Hii il LOAT i %2
3/11% (20134F) N IESES
3/13|F L Lzt a R ORR - AARIR) 56. 13
3/16|fifi N (20144F) LOA i %2
3/20|% i 1= I 10A it %2
3/20(L X 9 i Je R LOAT %2
3/21|#EF L i 1= I 11. 12
3/25| EFEA e IR (20144F) IESES
3/27|H AU H A LOAT i %2
3/27(F A H A LOA i %2

X1 HERER - L134EED Y L13TDET (Ba/ke)
%2 10K ---10Ba/kegh R H R R (BERIE TESHTIRIE) T

3/3R—=




